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1) Ethanol (C2H50H) is prodwesol. from +h Permruntation
of sugar (CrzHezzOu ) in +he presance. of enzymus.
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2. Lead Ui oxick is obtoined by roasting godsna (leod ci):
sulfids),n air. The unboloinced equosfion is:

2PbS ) + 0zcg) =2ZPhDes) + 2 S0zcq)

A. Bolanc the equotion and determine the

" ~Hhuoreticol yield of leod cn)oxrd}‘j}],e
200.0g of lead Csulfide is eoted -

®. what is e\ % yielth ¥ 170.09 of lead cit) OXide
is olytained 7
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3. Upon heaiting, colcium carbonote dscomposts
coleiomn oxiol andl coron dioxiol.

A. write the kalanard equation and duterming
+he theoretical yuw lol o-p €0z whun 235.09 0'()
colciom corbonoate is heoated -

B. What is He %yield i? At54 o earbon
duoxide, is collected ?



